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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which part of the gastric canal is involved in stool formation?
(a) small intestine

(b) anus

(c) colon

(d) stomach
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Q. We have a reason to see the Sun just a few minutes before the actual sunrise
because:

(a) Dispersion of light
(b) Diffraction of light
(c) Full internal reflection of light
(d) Refraction of light

¥. TAR U dRdias Gl ¥ o e uga G & @ & U HROT §©
FAITeh:

(T) YHIA &I el

() epTRT AT faada

(&) wepTer T QUi AR Wiadd

(3Y) TERIRT T AT
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Q. There is a reason why the Sun and Moon appear to be near the horizon
because:

(a) refraction

(b) illumination

(c) interference

(d) Their actual figure

7. 9F 3R dgemr & @fas F Pee @S 33 & vF FROT § FiRP:
(T) 3Tudad
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Q. Red light is used for signals of danger because:
(a) Red light scattered the least

(b) It is comfortable for eyes

(c) It has the least chemical effect

(d) It is the lowest absorption by air
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Find the resistance (in mega ) of a wire of length 20m, cross sectional area 1
cm2 and made of a material of resistivity 200 Qm.

(a) 40

(b) 4000

(c) 80

(d) 2000

20m FH, UEY BT SABA 1cm2 dAT 200 Om UFANUHAT & Ge1d & da dr
&Pl oy (AT Q H) AT AT

(T) 40

(fr) 4000

(&) 80

(31) 2000
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Q. A person with high blood pressure should take which of the following foods?
(a) Whole grains, fruits, vegetables and low-fat dairy products

(b) Red meat and eggs

(c) High carbohydrate and fat-rich food

(d) Spicy and salty food [SSC JE 2022]

q. 3T AT diel <dfth &l [Asafef@d A A i a1 Aol T arfeu?

(T) A 3HeTST, Bel, Gleordm 3R A AT arel I 301G
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. A person with high blood pressure should take which of the following foods?
(a) Whole grains, fruits, vegetables and low-fat dairy products

(b) Red meat and eggs

(c) High carbohydrate and fat-rich food

(d) Spicy and salty food [SSC JE 2022]

q. 3T AT diel <dfth &l [Asafef@d A A i a1 Aol T arfeu?

(T) A 3HeTST, Bel, Gleordm 3R A AT arel I 301G

(&) &Ter A 3R 34

(H1) 3T Frefersge AR aA@T b Hisld

(&) FFTER 3R THDIT QI [caTEAT 9% 2022]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Lysozyme, which is present in egg, has
(a) probiotic property

(b) universal solubility property

(c) bacteriostatic property

(d) agonistic property [SSC JE 2022]

¥. 373 # FAlg dsdemeT H T &l

(T) geraifes gafa

(&) ardsifAE gerereherar dufd

(@) dFdRAecies Fufa

(&) Tmfaesd uradt [auEd 918 2022]
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Q. Which of the following statements is TRUE?

(a) Giraffes have the largest group of cells.

(b) Elephants have the largest group of cells.

(c) The size of the cells has no relation with the size of the body of the animal.

(d) Rats have the largest group of cells. [SSC JE 2022]

¥. Prfaf@a qa&r d @ wlaar aar §2

(T) ORI & ure HIfAFBT T Ta& I37 Tog &

(&) @It 3 PIfRAPI3IT HT HIW TBT TG BT B

() PIRABIT P PR BT ATAaT & R & PR T S GG Al &
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Q. What is the SI unit for measuring the electric potential difference between two
points in an electric circuit carrying some current?

(a) Ampere

(b) Volt

(c) Ohm

(d) Joule [SSCJE 2022]

u. frdll Tgd arT arel fagd aRuy & & gt & 9 Rgd fsreiay @ e
& fow sisdhs a1 87
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Q. What community of organisms found in compost bins, lawns, mulch or almost
anywhere in soil or leaf litter serve as decomposers that helps break down organic
matter and return valuable nutrients to the soil?

(a) Springtails

(b) Turtles

(c) Raccoons
(d) Cougars [SSC JE 2022]
8
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Q. The equation given below describes which law?
Ag
Emf=—-N-—
Ay
(a) Fourier’s law

(b) Ohm’s law
(c) Watt's law
(d) Lenz’s law [SSC JE 2022]

umﬁﬁmwmﬁmﬁwwaﬁam%?

Emf——N

(U)WEFTEFI?E[

() 3N &1 AT

(@) are &1 AIA

@) o T FIH [THTEHY 315 2022]
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Q. Which of the following instruments is used to detect the presence of current in
the circuit?

(a) odometer
(b) Galvanometer
(c) Mercury meter

(d) Cumeter [SSC JE 2022]

U. dfdhe & e i 3uTATT &1 gar e & forr [Aafef@a # O g susor
BT 3T fhIT ST §°2

(T) s

(&) Fedaiafiex
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Q. Stratification in the field of ecology refers to:

(a) correlation of various species in an ecosystem

(b) inter-relation of all species in various ecosystems

(c) relation between two trophic levels in a food chain

(d) vertical distribution of various species in different layers (levels) of the
ecosystem [SSC JE 2022]

g, UIRFEATAST & a7 FA TAAMOT A dread

(v) T gIiRfEAfAdr a3 # Rffe gonfadr o agaay

(&) = aRfEafAs d3f & et yanfaar &1 3a-gay

() Th G @ A 1 TN TR & ST Jey

@) TRfEATAE a7 &r Aff Gt (TaRT) # R yanfadt o1 daaq aaor
[cHTEHY S5 2022]
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Q. What is the carbon percentage by mass in the human body?

(a) 32.6%

(b) 45.5%

(c) 18.5%

(d) 65.0% [SSC JE 2022]

U, AT AR H GTATT &b YR W hiad Ufard fraar &2

(T) 32.6%

() 45.5%

(HY) 18.5%

(3) 65.0% [THTTEr 915 2022]
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Q. Which is a method of converting a solution into a solid, where a supersaturated
solution nucleates the solute by a chemical equilibrium-controlled process?

(a) Crystallisation

(b) Filtration

(c) Sublimation

(d) Distillation [SSCJE 2022]

U. U faed A v 3 # uRafda & & v [ sla @ §, Sel v gudgies
i TS - gfhar gRT faoT A fdefic adr &7

(T) ferEceilenoT

(&) fAruee
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Q. Which of the following groups are all membrane-bound organelles?

(a) Nucleus, Ribosome, Lysosomes, Centrioles

(b) Nucleus, Endoplasmic reticulum, Ribosome, Lysosomes

(c) Nucleus, Endoplasmic reticulum, Golgi apparatus, Mitochondria

(d) Ribosome, Lysosomes, Centrioles, Nucleus [SSC JE 2022]

. frfaf@a & & dla-ar ag it Heell-ag 316 82

(T) fdFerad, TSAEIA, AFEEH, dA3ied

(&) =fFerad, TSIcenioHas MG, TSaHA, arsaar

(@) =gfFerad, TSiTarteas Mg, el o, ASclhigar

(E) VA, dAEH, ded, ~gfdaad [cHTEHT 31 2022]
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Q. Lactose is a natural sugar found in milk and dairy products and consists of one
molecule of glucose and one of the
(a) lactulose

(b) galactose

(c) saccharose

(d) amylose [SSCJE 2022]

. SISl TP Urplae el & S g 3N 238 3curer # urs el § 3R 3w
TSIt P T U] 3R A ¥ T BT T

(&) R0
3N THEAS [THTEET 9 2022]
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Q. How are the field lines inside the solenoid?
(a) Parallel straight lines

(b) Straight lines

(c) Concentric circles

(d) Curved lines [SSC JE 2022]

q. gRATfernT & 36T &89 3@T Har g §2
(T) AR drely T@re
(Eﬁ)?mfri'@w

(3Y) ATIER I@T [auEd 918 2022]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. How are the field lines inside the solenoid?
(a) Parallel straight lines

(b) Straight lines

(c) Concentric circles

(d) Curved lines [SSC JE 2022]

q. gRATfernT & 36T &89 3@T Har g §2
(T) AR drely T@re
(Eﬁ)?ﬁ%ﬁi'@w

(3Y) ATIER I@T [auEd 918 2022]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. What is the reason for the diffusion of light in the atmosphere?
(a) Carbon dioxide

(b) Dust

(c) Helium

(d) Water vapor

U. aRJASH A ThTem & TIAT0T ST HROT T § ?
(T) PRI SBIHTAES

(af) gt

(@) Sfer s

(3Y) ST arsg

Adda
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Q. Colour of light is determined by its:
(a) Dimension

(b) Wavelength

(c) Intensely

(d) Velocity

. UhILT T 19T 9 gRT AUIRT BT &:
(T) 3TITH

() oRer &

(&) derdar |

(81) aar

Adda

e
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Q. The correct sequence of rainbow colours are:
(a) Blue, green, purple
(b) Purple, green, blue
(c) Blue, yellow, green
(d) Blue, green, yellow

. Seadeu T T Hel e &
() frerr, &, Seren
(fY) orel, &=, A
(HY) e, drer, &0
(3r) Arem, &0, drem

Adda

e
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Q. Which of the following colours appears in the middle of the rainbow?
(a) Blue

(b) Green

(c) Red

(d) Yellow

g. farafaf@a & & ala a1 1 S5y & #eg # fq@s gar &7
(T) et
(&) &
(&) et
() drerr

e
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Q. What should be the temperature to keep food fresh in the refrigerator?
(a) 4°C

(b) 8°C

(c) 0°C

(d) 10°C

U. st & @A & arer WA & T JgdAT fhaar aar aifeue?
(T) 4 33 afeaaw
() 8 2ot Afeaaw
(&) o fsaft afewad
(3r) 10 T3 Afcaaw
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(T) 4 33 afeaaw
() 8 2ot Afeaaw
(&) o fsaft afewad
(3r) 10 T3 Afcaaw

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. The thermometer that is suitable for measuring 2000°C is:
(a) Gas thermometer

(b) Mercury thermometer

(c) Total radiation pyrometer

(d) Vapour pressure thermometer

T. 2000°C ATYA & T 3UYh YAHIKX &
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